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Homework Hydraulics L 14

1, Afow aleof 2.1 m /s i o be cariedin open channel at a velocity of 1.3 m/s
Determine the dimension of the channel cross section and required slape.
a) Ifthe channel cross section is rectangular with depth equal to one-half the width,
use n=0.020 |
b ) 1 the depth must be equal to wice the wicth ( rectangular shape )
¢ ) Ifthe chamel cross secton is semi circlr P
d) Ifthe channel cross section is trapezoidé] with depth equal to the width of
e chamelbotom and sice speo 141~ o



2. Tabulate the discharge in steady flow through the channel and floodway in the ﬁglle,
| fake s = 0.0010 and y = 2.438 m. | S

B 1 LTITTTTTTITN

side slope
1:1




3. A large reservoir 5 m. deep has a rectangular sluice gate 1 m. wide . How does

the volumn flow rate change as the sluice gate is raised . What is the maximum discharge

and what is the gate openning at that time.
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The flow can be made subcritical by placing a step downstream of the gate .
S@posethqﬂowleavingmesluicegateis ¥y = 0.5 m. deep over the step. :
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' 3. A large reservoir 5 m. deep has a rectangular sluice gate 1 m. wide . How does
the volumn flow rate change as the sluice gate is raised . What is the maximum discharge

and what is the gate openning at that time. ¢
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